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And we also learnt regarding Avodoh Zoroh  — 7197 717129 923 %1 72M

OVERVIEW

The X713 questioned the meaning of the o231 (regarding y»n 7y°2), whether they
require 2°2 PN 719n, or only o°% P (without 1191). The Xmx cited a similar
statement' from *"3 regarding 1"y that it requires 2*> 2°un W M2 7 pMw, and the
same query arises there whether by 0°% 9°0n we also requires the prmw or not. NdOIN
discusses whether the opinion of the 1127 here must follow the view of >"1 there.

= (3, Nt nmay) DIIVNN DD PI9Y 2509 529 13999 1PH2NNT 12297 PN 1”9 IIIN
The »''1 states that the 3129 of our 71w» who permit Mm% 77 77971 as an accepted

way of ynn 2, is v''1 of 2mY37 Yo P15 who permits M2 7N pMY as a means of
destroying 1"y.

nmoon offers an alternate view:
= ONNT 19293 929V NN NINT PNNINN 9) ON

Or you may also say, that our 771w» here works out well even with the 3229 there -
- M T3 PaT XY P XN *DonnY Y1 YAt Au XN 9N 19 19INT

Where the 1121 said to ", ‘if you will be m1% 7m pmw it will also become
fertilizer and cause plants to grow, but the Merciful one said ‘it should not

cleave to your hand”’, etc. the 13131 here agree to this concern, but nevertheless -
- SANIN 999 KON MON 1IN) 5N XY 2905 {NAT DIV 13590 NN 1IWT XD

The reason they permit it here (to be m12 7711 7191 by ynn) is because by vy it
is written »28° 891 (and it [the y7n] should not be eaten), so it is not forbidden

to derive benefit from y»r only in the usual manner one benefits from yn»r -
= NN NN TYTIND NIN) NN 99

" See 2, 1"y mwn. The 1121 there disagree and disallow the M 77 prw because it may be used as fertilizer and the
7790 writes (77,3 [R1] @°127) that 2977 12 79287 77°2 P27° 871 (no benefit is to derived from 1"v).
* It cannot be the 7127 in D157 3 P19 who argue with "9 (see footnote # 1), for just as they disallow 1% 72 prw
as a method of destroying 1"v, they would (seemingly) also forbid it for ynr 712 for the same reason that it may be
used for fertilizer.
* The words (x3am) 2% 2731 do not appear in the mwn there.
* See footnote # 1.
3, (%2) nw. See the X3 on 3,83 that both 17°p11 and 172K ' derive the R 710°K by yan from 2o8° X7,
® See the X3 previously on 23,75 where 711 " (first) states that 1nRI7 77 XX 27°9Y P17 PR 9702w 0K 22, and
»»ax who (follows up on this ruling and) states R?7 2Wwn v"n ,JNRIT TITI KOW 120K 27°HY PRIPW 0197 °R?32 2270 27
729K 172 2°n2. It is evident that by those 1110°% where the word 719°3R is used to prohibit it (also) X172 (such as ynan)
there is no MO°R of 7175 XKW X317, however those 7R3 *110°X which are not derived from the word 790X (like 1"V
whose 11X 10K is derived from a7 X?), they are X172 MoK even 175 X7w. See ‘Thinking it over’.
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However, in this manner (of it being used as fertilizer), it is not 817 797 (and
therefore it is permitted) -

TANIN T NIV 1D9AN YON) 199N 290 NY N7 N91aya YaN
However by 1''v the word 77995K is not written to proscribe its benefit (but rather
its 8317 MO°X is derived from pa7> X9Y), therefore it is forbidden (to derive benefit
from 1"V) even 7RI 777> KW (such as being used for fertilizer).

SUMMARY

The 1327 here who permit ma% 77 7997 by v may either be following the view
of °"1, or they may even agree with the 7127 and distinguish between y»nrn where
7772 ROW 1IR3 is permitted and 1Y where even 7772 XoW is prohibited.

THINKING IT OVER
The distinction of the 1"X in MO0 seems obVious,7 why does not the "7 (in the
first explanation) accept it?!®

7 See footnote # 6.

8 See X1 7" 72 HRIMAW 927
2

TosfosInEnglish.com



